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Chapter 1 Outcome 7

Level 2 2 /
1. Consider the graph of y = f(x). ' >/ 4 X

-2 4 & X

2_ &

a) Sketch each of the transf d function: F= 0
) ‘e of the transforme \L)m‘géf\rét S 1 /_4,
i) y =f(x+3) ii)y=-2 f(z< lt&l&li)y?f(;x) - ‘
3 e ub. ok @ M o :

D
2

o \

7\.}?

Cxig) S (v=314) Cugy) 2 Ox7 -23)

(X(a\ = ( 27‘,3»2)

2. For each equation, describe how the graph was translated, reflected or stretched.
a) y =-2f(3(x-4))

J shedon focke of 2 it < don fackw of 5
V.eeflechon Ot X oxs  H dranahan 4 ognt
b) y=f(x-5)-3

H foms\ohaon © o ey
V. aonslofNee 3AGuan

c_vy=f(-2x)+5
H e hon NIy A} V. %ﬂgﬂs\&w ——
H. 2 kedi o 0N\ ~OXS e (Ll

3. Consider the graph of y =f(x) and y = g(x).
Determine the equation of the translated function in the form

_____ﬂﬂx_—h)ﬁk.
| L Aowsn D =
\\)\ :?(X«l—\)m\ | Loy =

X e Y HEEREE

1
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5. Determine algebraically the equation of the inverse of each function.

a) f(x)=3x-6 b) f(x)=x*~7 ¢) y=(x-5P-9
— —\ = 2 = —
Bye= Sy N S X= (=5 -9
X +lo= D qu:ts.l- * ) J' "‘)l

5 = Ntk *‘~.‘~——— W Hq ﬁéj ;:_5
S A= ae = Tl s

37 %o
Level 3

6. Describe the transformation that must be applied to the
graph of f (x) to obtain the graph of g(x). Then,
determine an equation for g(x).

V.ceklecion T

51*; (L) as=ve [ L¥L] L

W getaonx 3

vt A

= EEENE LS g

7. Write the equation for each transformation of y = x2 in the form Y )

y=af(b(x —h))+k
a) a vertical stretch by a factor of 3, reflected in the y-axis, and translated 3 units left and 2 units
down

Y= 3"?(‘ ( - +%33’1
b) a horizontal stretch by a factor of 2, reflected in the x-axis, and translated 7 units up
Y= =£(5<) +3

9. The graph of the function y = g(x) represents a transformation of

y=1x \
the graph of y = f(x). Determine the equation of g(x) in the form

V4

4

. y=af(b(x—h))-+k. \ ‘(%ﬂfc'\in i e :

5:—52(-‘(\\-33AQ 0> ~e e
e

(e W Sl wﬁf’

Vistaetdn % 2
=3 'ﬂf)’h—b, o | =g
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10. The key point (—18, 12) is on the graph of y = f(x). What is its image point under each

transformation of the graph of f(x)?

a) -3f(x+5)+4 b) y

(o) = (x-5;-3414)
(H3,12)2 (485, "3 +4

Lzs -22) |

11. Consider the graph of the function y = f(x).
(-2 (x—1))+4.

Sketch y=f(x)to y=

w|(-30>(2

Level 4

(xt‘j\ ;)( a\cf\ ij"l)

A (200 (],%) L
-\ 1(3,3)2(0 13)
(4,- >(——\

= 2/(6x)

Ck:\‘-}\)'—j (;x \2533
(8.2

LR, 2ArY)

-l¢3, 2]

1)

_5)

s inverse, x = /(). Determine whether the inverse is a function. If the inverse

) // y‘

12. Sketch the graph o
is not a function, r tn‘pt the domain of the original graph to make it a function.

Page 3
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Chapter 2 Outcome 11a
1. Identify a, b,h_and k for each of the following
a) y=5Jx+7-2 b) y=—4/-x +8
o= b=-\
= N=0 ,

\

.

8

5

. Graphy = x

\

<
O

| PR

-0 w

=%

ql =

Level 3

3. Write the equation of a radical function

that would result by applying each set

of transformations to the graph of &4\ .S
a) vertical stretch by a factor of 3, and horizontal stretch by a factor of 2

Y=35x  oc Y34 GO

b) horizontal reflection in the y-axis, translation up 3 units, and translation left 2 units

3=m D o g LD 3

4. Graph the functions below.

Then, identify the domain and range.

a)y=—2\/x—2

G‘“’:\\ - (\u-'l —2':»)‘)

(0G) — (2 6 N
Cally _ (2, 2) :
=

Y s Uol \q.)

CC’\‘%) % | - f_7‘~ )
| (1 —lo & Eaiiy
\ g ’) %“téﬁ“.@*}
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¢) y=+2x—-4 . 4 ) R
(y.:j\ > (3 X, ;_)_r“-\)
(Q\(-U -y WD, —q‘.'\
e e L% =3% == mh
L‘-i\?,) : (:2.) 2\
F13 0 (4g )
Doy R L‘*‘*l\ .
Ay=2/-(x-3)+1

(\,(4‘3') > C’\U’S, "?‘j"',\ 5 1]
(0 = (3 1Y EmsEEE ot
Ay <=3 { —
NG =9 (3‘) 3) . 4
(¢, 2y (=1, 6-;)
(Cl.‘S)‘* (-0,3)
V= (e, 31 P‘r;E\‘\p) i
5. Graph 4/ f(x) from the following graphs of f{x) and state the domain and range
b ®i VP EETOq P
e R
i [ ,
:—%_s‘“ W chs.d .0
:1ﬁ$—r?i—wolzlxs‘f IEEEEELN R .
i I : P ; 95,
-------- PR P A
D = (.—Q‘Q 17‘1

™= Lo, o) D= o SN Ulos,«w)
=0 U—B)



6. For each function, write an equation of a radical function of the form y =a./b(x—h) +k.

a) [yA

(2]

s

NJ

1.2 ng—;wa)

) :2'{*”7

Chapter 3 Outcome 10a

1. Divide the following using long division or synthetic division.
2¢® —10x* —15x - 20

a) (2w +3wP-5w?+2w—27)+ (w+3) b) =
2 -5 Q2 —a= _
3\% g _q A —30 ) g =iy —iF A0
e L 10 -100 yas
3 -» 4 o 3 . e ;)
. P 3 -A0 5 —yAs

of?w’& " w Lo —1O 3

w3 o?\,ag"&()x +85 + ‘-L)q’a‘
L4
2. Determine the remainder when x3 + x2 — 16x — 16 is divided by
2. X+ 2 b)x-4
P = i PLD= O

b) Are any of the binomials above a factor of x> + x> — 16x — 16?

L



3. Factor completely

a. ¥*+2¢-13x+10 b. x* — 26x* + 25
P = 112 - 12+1D PO = ¢ x-| afacer
¥ -\ G\?de*or -1 \‘\/ f)‘ "}\b % S
——\\\ 2\ \O \ l _ak as O
\/ = ’ - s
~ % - o Ce=OCw *+x* as. —,1?‘3
(2= DX 10) Ancther cliusien
RN (e =0 4 Yor DY -9)
4. Determine the value(s) of & so that the binomial is a factor of the polynomial: x? — 8x — 20, x + k
PCkY=0 o rBh - 30=6

(K +HICH(K -2D)= 6
| K= K=2

5. The following polynomial has a factor of x — 3. What is the value of k? kx®— 10x*+2x+3

L) = 6 .
. , D2k =5
KX AN 4+ AR = ”;;Z? /

AMH-GO +b+rR =0
&35 _8l =0 Chapter 3 Outcome 10b @

1. Determine which of the following are polynomials. For each polynomial function, state the degree.

(= B8 ) 2O = O

a) h(x)=5—-l b)y=4x*>-3x+38 ¢) g(x) =-9x° d)f(x)=%/;
X

e Yes
- - e Ao



2. What is the leading coefficient, degree and constant term of each polynomial function?

a) f(x)=—x+6x-8 b) y=5+27¢

LC= =l lc= R
-3 &979\

(e =¥ Con - S

c) g(x)=7x3+3x5—8x+10 d) k(x)=9x .
i B &2 7R

dog= S deg?
Cc?‘: Te) oonr O

3. Identify the following characteristics for each polynomial function:
e the type of function and whether it is of even or odd degree

» the end behaviour of the graph of the function
* the number of possible x-intercepts
e the y-intercept

a) g()=-2x"+6"-Tx-5 b) f(x)=2x" + 1x* - 12
Evan O-4% % w4 ,C:Ole.\ V=S <o
- a m =\ gwnyr= -5 :‘\— - 8‘“+=‘\2
4. Fill in the table below for the following graphs
Graph Odd or Sign of Number of | Intervals Intervals
Even Leading x-intercepts | where the where the
Coefficient function is function is
positive negative

(-3,
U (-@ 2)

(I

o0 | A 5 |30
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(:3)

Odd or Sign of Number of | Intervals Intervals
Even Leading x-intercepts | where the where the
Coefficient function is function is
positive negative
y
, ) [(-4,2)
O | - & N V
“
(43)|(3,0)
(_Q (v‘) (“-'UO‘—Q:
\J
- H v o -,

J

(3,%)

| =

(=)
\J

(1i2)
v

(3,

(*‘h\

N
/

4. Graph the following polynomial functions. The first three have already been factored for

you.

du”?\,(,

(= ©
y=-2x- D*x+2)(x-4)
A HHH
| - w--——.%— 4 — - e +._
\ T

\ & b
v N
§\

£ ! I \
1 % N S A hp- o 1 1.

- |
T

=0 S5 R PR LS

1S == T8

+4 4+

$(6) = )

Page 9
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CEYs WP

N ) &
y= b IFE—5 d" A y = x(x +4)°(x —=3)% du
Y l—C/

5 LG

T . T
i - : . } X 4 4 { . ’!
v 1t >( = 1T I HH
N /‘; | BF,INEE A
kcl | EESSEYSNREPSESPARNEE
‘ i — —
| i WA NN

I 1 S .- - = '_...?\J' = 5%
| | | uE
| [ | |

1 {

. ! | 1

Fo) ="+ 199 + 6x—72 y=R+ 4P —x—4

=00 (-4 CTEN b W) 1)
- (30O ()

il i
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Final Exam Part 2 Review >\ L

Chapter 4 Outcome 1
Level 2

1. Draw each angle in standard position. In what quadrant does each angle lic?
n

a) 215° b) —70° 0 d =
N AN A A
]
AN < > < e A A >
J
’g v vy v = \/

—% QxS

\Q

2. Change the degree measures to radians. Give answers as both exact and approximate measures /Q)J Q) \mﬁ\;){
) 4

to the nearest hundredth of a unit. e e _
b) -240° ¢) 310° qt\ﬂl

y=z =20 310

' &) -

VB0
3. Change the radian measures to degrees. Round to two decimal places if né y.
4n 5 »
gy = b) > 0) 3.0
0™ T~ \ s
[ C O
1449 120 X - AZO O TS
4. Determine the onc positive and one negative angle that are cotcrminal with the given angle.
a) 450° -3 (LO° b) g +
Y Y 3 (& \ )
0 GO -QRe° = 2 Ur _Quw
' ) S'6
Level 3
5. Write an expression for all the angles that are coterminal with each given angle.
a) 75° b)% o1
E=° - o T b - —
1T T Ny aend == ST, N ERD \ Z‘\‘\\(\&.Q

Page 11



& . \ 2 i Q_ 2 4
hapter 4 Outcome 1b Oﬂ\‘\’ C\‘(\e VAR y = | C\;\ -
1. Which point(s) lies on the unit circle? Explain how you know. Y *\j = i

53 53 53 |
Cal LR @y (37 )7
\%afcl;"’;\t\j;« =L S cR i;; o

2. Each of the following points lies on the unit circle. Find the missing coordinate satisfying the
given conditions.

2 \ \ = !
a) (——, y) in quadrant III b) ( 4) in quadrant II
W
-E e

513“1‘

B o
N g
q=25g
3. The point (x, y) is Ibcated where the unit circle. Determine the coordinates of point for the
given angle. (056, & NG \
 a)0=45° b) 2n (_,_,ﬂ)e——ém d)% o N
Z Yz Le) | C
Bl - (E -\
- =% Z

a)( } j—) b) (-1, 0)

@P :L"SO




7. Determine the measure of all angles that satisly the given conditions. Use exact values when

possible

a)tan 0 = 71 domain 0° < 0 < 360°

©R - tan ') = 4&°
& ‘ " :
NN E \25° 3\%‘1“}
N
1 [ &
_ 1 . )
c) c058—~§,domau 0<0<2n) QCLC‘\\CV\
G)P\ = ol = ‘IT/3
F s F
Tf(.b
«-1,;./ S v
-
G-

e) sec 0 = 4.87, domain 0° < 0 < 360°
S'(]-487)
&z =18 3°

.:}&.;1‘*‘
1&.°

Level 3

b) sinBz% éomam{)<e<27rt K(\(\l(\[\

Be=leo’= TR

- / A .
e Ty ?F— ,;_lp
= 5
-4

,i

d) cot0=-4.87, domal@
Jaat (\ 5 hET)

Ep - 0.a0

- e
oI

o2

Rackhan

34~ 0.2
D ~Oa
, St .06
f) csc B = 2, domain 0° < 0 < 360°

S'-n’ ' C, El;__\

2’4&9‘1%1@"3 Oz 30

8. Determine the value of the following. Usg exact-values when possible

a) csc 60°
3ink0: L

Cscls0®- A
=
d)cot 137°

b) cos 240°

¢) tan 260°




9. Determine the exact value of each of the following: _—

~= y
a) tan0++/3=0, 0 <0 < 360°. b)2sin0+1=2,0<8 < 360°.
4anG - - 43 NG = |

Er= (00\\ - ORI @L e S

@90 ij e

) 2 cos” x~'5 cos x+2=0,0<x< 2. d)4sin’x—3=0,0<x<2n.
(Q(,LSA o | XCD‘_-).(— Q):O \L}S‘n w =33
x =\ =3
N sin? g

X@=(eex® 3060 W )
l%ﬁ i@o 5 s 25

)(P\:(OOD. W/ \/
e) sec=-2, 0<BS360° 5 ' 35 > \ \

oo = -_\i_
Uﬁ:(od) (00' |
v § A 5_;}
E (Qbﬂh%o"’} 5133
10. The point (— 2z is on the unit circle. Determine the exact value for each of the 6
trigonometric ratlos
> 2& 3 \
J3 Coseg= 3 Az
G = a_i_ ' (Y= =
Sy 3 & A= &
%
lang- AT, 32 . 35
{ I



Chapter 5 OQutcome 3
‘Level 2 ’

1
3 e lpwig 5,

Amplitude:

l Period: QTI'

b) y=cosx, 0<x<2n

x-intercepts: OJT[QJ’ asymptotes: nbn‘t

Amplitude:

, Period: ;)_*

x-intercepts: g ; 3-’1‘ asymptotes: /\L{'ﬂ

>

Amplitude: W Period:.( x-intercepts:(’j‘--n*‘’arl asymptotes:j‘;_‘ %\__1‘
= 2L

Level 3
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2. Determine the following for each
graph

a) Amplitude: ‘4‘

Domain: YQ(P\

Range: ["_:3 ‘ E;J
Period: L\'\‘\" b - é

Write the equation of the graph in
formy=acos b (x-c)+d

ya T
b) Amplitude: — 3 : g T
| . [ AR AR
Domain: "y £ [} 4
X &0 N EENEEEE N A
Range: l: - 51 . - [ -
T . I
od: L \ R
Period: é)_:t_r b — 3 \ / \ ]: \ / \
Write the equation of the graph REREETFERREERYIERERE" LY S _% = s
informy=asinb (x-c)+d ;

j =3 51036(*%\ )

c) Amplitude: 5 _/\ ?“ﬁu !
an: ”I 111 “‘\\ M“__J B
poman: X L1\ , iy / \
Range: E_\ . Sj N : - “l,, : =y N
Period: _ | \
T V=] VY[,
Write the equation of the graph in form - : »
y=acosb(x-c)+d | 3 :) \O’{w il ey w10
— YBewdp-3naa —
W _ 3r
1?2 - -4

Page 16 Lf



3. Graph each of the following for at least one cycle. For each state the domain, range,

amplitude, and period
. o , 3 - =
a) y=Ssin~;-(x+n)—2 Sard @ T €nd T AT %,“

T oS I (156 0 O
s e mmEEeN Ny AR R R
T H+ I _ij o

= giai ‘Ir—‘ e
- i
I s &
1 B | AGESREEE
, *a
| 11
'V D:(-UQ’]G“\ (N‘{'\p-g

- .35] Pered) = aw . B

Stavr ¥ N b) y—*—23£n2(9—-)+4 D=(-a Q= 9-

£ i A-Cel pericd = - T
P

N ’ . -~

- N

T 21 N

a

4 c) y=3cos4(x-m)—1 D = e alton Pefm 3\1— —n;__ S%ﬂ{%@ lT_

= Q-L[4Z] oamp-= 3 aJr\dT\‘-»xlr
iy

-l

¢ * 2 s

—
>

‘-l'>#%.

Page 17




2(o+%)+3

d) y=—sin

=

A s A0 - Th) <4

9:

-+

3cos (29 —

e) y

M\

Chapter 6 - Outcome 30.5

Level 2:

1) Verify that the equation (secx + tanx)cosx — 1 = sinx is true for x = 30°

\
y BB

)
NES

—t

@:
\ES

(SQCf)tf r4ande) 030 - | =si102°
3
v

-

f

=2

Page 18



2) Prove the following identities:

cosxcscx
a) = CoSsX
secxcotx

L( % (0SS &% S
%\V&- (X{)?(
COSx
LS =RHS

L NS

€) cscxtanxsecxcosXx = secx

q\Q‘( CQ’S\c
s\){a ()f{)( CoSX
J

—

= rEsx

LHS

I

SC(x
LHS=RHS =7

|

(LHS-

b) cotxsinx = cosx

CLSX - sifX
SYX

([0S

3) Determine the exact value of each trigonometric expression

a) sin105°
8\\(\("‘6"\:0‘)
Sw “—S (D +— LESMS Sl
3 r(J—
Ji v SL
as

Level 3:
4) Prove the following identities.

a) sinf(cot@ + 1) = sinf + cos@

SINO (G + SOO

T 2n v T n BT
b) €0s - cos— — sin sin—
(oS (e » M/Cl\
(oS | 2w
> (2
Cos (Y 2)
V2

) sin x+sin? x
cosx+sinxcosx

SIne (1 15 © )

= tanx

SWE -8 +Sn©@ s |
Sl ©so 1+ swe)
L’DS@-\'ﬁ\ﬂ@-ﬁ _9_’\\‘_\9

COSS-
MS - P i
: LHS - WS o
Page 19 LA - QS
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tan@

¢) sin2x =tanx +tanx cos2x d) e ppa e - heag sinx
RUS: o (La s x) Ao
= Agow C 1« Qs 1) (bu@ Cla \(\\\\D
\onx [ Aws>) tans. i |
= S (et (D < SeC© \ RS ‘2*\36
cw‘( s e )
o) S TOX (EH* <o -osF
2 ?CQ%)(,“ 1 ( -5
e). = 2cotx c3cx
W1 —cosx ) 1+ cosx (
f (r6>® I~ ooea
It (ose - LV “LOSG\
|- (et & [q Q 650
-'\\(\@5\0(.(}
RAECH -
Level 4: SO S 2 (&GO
5) Prove: LWS =RWS T
1—cos20 _ tand
sin2g "
[ ([- &5\
S INY(CS< Aon®
/g{Slﬂ’Z@‘ LHUS—= R\BQ
Bsin@ (oxo
SING
oS
6) State the non-permissible values for q%e%tions 4a, 4d and 5.
4o) colo= (e ®) s6 (It tante)7 0 5. SOws0
WY ' FNNEN
SW6 (656 40 W@iﬁ— G+ ©
~ | fane 2L
S8 £D © ﬂ/a\?gwa A il (tsx# O
@ %O{ﬂ[ T %) f—’“/a Ly we

G£TY 5 2 0N

lon® 20 E
é’\ﬂ@— (oSG Z ¢ Page 20
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Chapter 7 — Outcome30.9¢

Level 2
1. Solve
a) 2* =64 b) 3% = 27%2
X =z = 9);,_—54 X—:_D) i%}
2% x+3 -
¢) B* =16 e
(’93(2_%) _a%k\u = d) 925 = 27x+6
' . PR 33 (e
b\( = x4\ e
Y-10= 35+ \B
AKX = \ > b . T 1 3 C;S
2. Graph each of the following, and then determine the: X = 2% “
a) y=3" , 4 y=(1/3)
]
]
e + - -
= Bomain /,5
S g - U ) v
(<O Range: ((y &> (covo> Range: (Q, (o)
Horizontal asymptote B:Q Horizontal asymptote %2 Q
Yintercept: (), § ™ Yintercept: (O, l\

Wr Decreasing: Increasing @r Decreasing:

Page 21



2. . Identify all of the transformations of the following: (ie vertical translatlon up 2)

ose

a) f(x) = 3%+ 5

q= _x

b=-I
K=5 . frans

Level 3

(./p?

4. Sketch the graph of
M
E’)Gse, y=3x
Lj) ')’ C;ufl/ ),
_,_l)
( 2] ,-0
L3l £8 =5
(29 cu )
(3,;2“—}) (3, -3 )

[ = [
(0/0

¥ =32 ") =5

Bae g =¥

(,Xlt\\ 5(X, '33 S>
35> —39
(D |>—> (O

() 2)‘§ (-l \)

l

h-reSlchon Gladt § 70wy

(‘?3&3-4». “c\x:l
b) h(x) = —2( )

3

G=-2 V. Sienx<

A =\

V. e lohan adant x-ay

g Do L ond %+

R

il

—lz s =2l
(3;8')-) (\5/ \Cj\)

Page 22



9 22x+4 = [- , ‘
— AR D % R
j'a -\ |

D
|

—————4—4

=5

"1
—r—t

j%_) 2 - a, L_j—-\)

= -
(-2 o .
‘ &)= (- s 3 3 ST P
\2H4 > (= ay
(38)2 (05, EEEEENE
3
Chapter 8 —Part 1
Level 2
1. Express as a logarithmic statement.
=B
]03'2_(6 =3
2. Express as an exponential statement.
log; 81 =4
3‘* =8
3. Determine the value of each logarithm.
a) logs 25 c) loggl

2 O

b) logzg- d) loge6

Page 23



4. Graph each of the following and determine

b = {
A Domain: (D\ \D)
IENSSNESEI NESESEENER
bl b Ll L s aiot el o) o0 8 R -l e
EEEN! i J e | \)Q\UD)
AENSEERNE A NN Vertical asymptote X:—D
(1] [ |BENE
X intercept:
& L\©)

ENEEEEESE INEEEEEEE y intercept: N A

5. ldentify all of the transformations of the following: (state all
stretches/reflections/translations up, down left or right)
a) y=—2log;(x—5) +2 y = 2logz(—x) + 1

o=-23 V.shtdcn x2
Y = \ \J_(.cf,o._\odu‘\ X oxi

W= Ay S

a=2 V. ShAadn w2
P=-\ \.cef\ci Soaut )

. = 2 “wp & ::—:O‘ e\
A
"
Level 3
6. Sketch
y=-—loga(x+1) -2
(ay) > (x-\, ’3'1> 4

H,9— (6,-2)
& (\J—-B) HHH
D (37 s
l¥2Y) (F,-S ) |

—

Page 24



y=2logs(x—2)+1 1 I
(ch)"ﬁ (—%,3\3*\\ QZ-;LH;:L
(.00 = (-\\) 4
(3,8} =231 — \'"
LO\\Q\)—D (*O\\SB P 1 r‘\ [

SESEEEEEEE N EEEES
| ”. f
Vv
Chapter 8 Part 2
Level 2
1. Use your laws of logarithms to expand each of the following:
a) log4§- b) log, x> c)log, yx5
) -\oq 4 3 \ +S\oq , X
Oy X ~10] 4 Do * Sgaly *SVRe
2. Use the laws of logarithms to simplify each of the following:
a) log2 +log7 b) 4log; 5 c) log, 42 —log, 6
)09 1% \osb(oa.f: )03 5

3. Determine the value of x.

a) log,x =3 b) 3 logs x = logg 125 3
e :
¥ 2z & %25

c) 6* = 216 d) 4**1 = 64

' = & yrets 43
X=3 X
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Level 3

4. Use the laws of logarithms to simplify and then evaluate each of the following:

a) logs 270 — (logs 2 + logs 5) b) 3log, 6 — 3log,3
o y 3O \ VA
9 25 b%z&};{é
a:\'
\ A0
ek | O 092 ©
\‘3%5 a+ >
3

5. Write each expression in terms of individual logarithms.
53
a) log, "r_ b) logs /xy3
= mz“’%‘%z $=looa™ Amad Ligon 4 2\egeld

6. Write each expression as a single logarithm.

a) 3logw +logvw —2logw b) log, (x + 6) + log,(x — 1)
\bsuqe‘ +\03W\[1 ’\Qc_’}“”z \Oc_:j?_ (x+G) (-1
3% -2 \og. j_,,_'i log, (WRaSu-6)
Vi
%. 7. Solve for x. D?\g w 2
a) logsx+6=28 E b) log.x + Zlog.x = 6
legew = Q \03‘_‘_5(3

S %= r' r—
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c) log, x? — log,5 = log, 20

% -\®

wWo i o /c \08 QﬂL_\Dﬁi‘: \0037_ \C\C/)

e) 3* = 100

XX 4.91\B

Level 4

8. Solve the following. State any restrictions

Fa

X+3 70
1—12\(3 (O"l )

(=3 '
b=

=

o T __yD\ A X =49
o= (¥*«X Ny -6D

¥4

loge(x +3) — 2 = —loge(x — 2)

(y+%)L¥ -'R)
BN W < e

d) logz(x + 7) — logz(x — 3) = 2

(=2

\Lsc3 o

52‘_ Pl o
T %3
Q= >
=3

Ay 2= xa™

Se= 3N
A7*3=517 | %=39=12-4.25
’ % 3

\05_% s = \ Og%\q‘

\og 3

%-3 = \D*F

2 e
\é:’}fﬁg‘?’\j—— X3

ooy ¥
o MW | odlo

\ogbu*'& Y09, (x-3D=Q

\08(0 (wa)v2) = 2

T

—3lo
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9. Use what you have learned about logarithms to show how you could use two different
transformations to graph the logarithmic function y = log,8x

O y=leg8x > h. sheiendd

Q. %: \0%2% ¥ \-O%ZX
Vo ons we D

\j = % + \(3(52 x
10. Simplify the following logarithm. State the restrictions
log (x* —x—12) — log (x*- 9) 10 \/\—L\- o ﬂa) X7 Ll.
3 X =3 )

05 L —5— l&}
g LR -)we)
Chapter 9 Review

(45 (x-3)
Level 2

1. Determine the characteristics of the following functions:
2x—-1

e

Equatlon of Vertical Asymptotes: X = 4
Points of Discontinuity (holes): ~JA
Equation of Horizontal Asymptote: 3: =

by=—25_ = 4

(x+£57(x—3) x=3
Equation of Vertical Asymptotes: K = 2
Points of Discontinuity (holes): (_5 - \/eb

Equation of Horizontal Asymptote:

Y=0
c)y = _x=t o (xmHAd | ¢~
Y= Yovaxez (x (e+\D ¥ &)

Equation of Vertical Asymptotes: x= -\
Points of Discontinuity (holes): ( -2, &
Equation of Horizontal Asymptote::3 =\

28



Level 3/Level 4 (Level 4 Questions will have an oblique asymptote. You will need to determine that on

your own.)
2. Graph the following functions. Be sure to give the equations of all asymptotes.
_—2x+4 _ — Alx -2 I | (RN VT 4 =
NP o bly=22s W-lpetd . w 4
(A s
\J_{l; %= - ¥Xoand N
Ly s g (O, )
1
‘ —
/
. A SSNE - .
& - 7D
Wy
2 J
| :
v ;g y } aoges y
e Ay =T - e 1tad)
, 50> VAR v = 4
VAo yx=-3 Ooredines) ¥ <l
- =1 ..l_ oy - ':..’
M @ y=0 i *oe WALy
gux (0 V) “ Eeid
- . Yyt (O, -15)
Xouvy :
. Hoe ( -5,—-‘13
g i
\ E
- == . L&t ,: =
/
/
| Y"
X¥3s -3 29 _ -4 b
_ ) X
: 4 X-6 — \, = " |
@ l @ \‘-P"l‘ -_ + | +
| @ \\ ("_') \\ @
i



2 =
S S VLD € LD 2x+6  _ %@ - X
y —: x_ . = - y e — B 7\—3
1 (V) ' X Mk ->

Voe (-3, -4)

w0, -2
‘i ‘ f\B ( 5)

/ L\\
/ / I~
= ——__q-# - — _ -
/‘ l_, \‘
v \ \
A \
vt :
1
- -
O.A . Yint (310) 3 - -
(3.9) %D . g
A - IS —
-\ \; 3 & Yk (D) o G
\ % O \-b
6’}\@3:&
K3

X 49
% -\
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